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2) Find a vector perpendicular to each of the following pairs of vectors. Use the dot product to check your

answer.
a)[5,0,1] and [-2, 5, 8] b) [1, 4, -2] and [-4, 9, 0]
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3) Find a unit vector perpendicular to d=[6, —2, —3] and b= [5, 1, -4].
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4) Given d = [1,-2, 1] =[2, 2, -1] and ¢ = [2, -3, —4], evaluate each of the following:

a)dx (bx&) b) (@xb)x¢
= 3 o \
E)x.z & x (bxc) \ it i-l"r) e« 2
‘ L - -1 ) -3
2 e -3 7 :
_l)g-"f -i)g) -10 _!>>€" Q)i N
!
i VS e R
% P e e
-3 T 6
) oxB 2 [0 - (D@, -1)- 1) (@) - ()5
G'XZ B} l(‘q) _(_0(_3)),'(7‘) _;(_q) ) 1(:’7.;) J(a’;) ([ ) ) ) )7‘( ) ) \)]
L‘l ) ]
(v, 6, -t0] T B®)R
20 (22) = Lo <000 e (i 10 )] 7 L0 -6, €040 . o]

- I =/32,8%, -
= [26Al,-10) [33,4%, -10]


trevorjensen
Pencil


c)dxZ—dxb
- -
a %

-3 -3

g <

25
X3

X

gy -

9

2: han g:[3,,40 27 R&.-3,-4)

232 = [Facuy- (IED,EX) -1, 1(-3) -;1(4\‘]

- [52,1])
a*? = [H,'l',(:/x

(B*T)~ @E) = [1,3 -5]
e)(@x2)-b
~ 2 ot ES)l)lj

s oy D -

(& x 3} b o2 fg)&)\ ’\.E;,})-l]
= 5@y rd @)+ 1)
= 13

g) |Ei><5|

= ("’)1%-!)9\-(6): -

[LEE El(—!’a-) - G, () - 2619) 3¢-T) - ;(s):)

- [—%’3) |$7‘36’J

fl(@xhb) &

= ["{) -hC.] ° [3, -‘;)-q]

U3 ¢ (U3 G(4)
,lg

v\

hfi x (5 - )
b2 - ED)G‘VI'J l [ Q),’g)‘L{]
- [O)€)3]

o ox (B-2)
Y 5
=i \/-.ag
<<
e

-

a w(E—Z) = (-39 - (-1)(5),-16) - 13y, |(5) - (-:z)(o)J

) D‘) '3>5]



5) Use the cross product to determine the angles between the vectors d = [2, 1, —3] and b= [5, -4, 3]. Consider
ambiguous case. Use dot product to confirm or use graphing software to inspect.
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6) Determine the area of &PQR Wlth vertlces of P(3,-2,7), Q(2, 2,-3),and R(1, 1, 2).
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7) Determine the drea of the parallelogram ABCD defined by the vertices A(2958), B(<2=5-8), C(#8&), and
D(45=877).(%4-%)
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